Honors Geometry Name ID: 1

Summer Work Date Period

Write the slope-intercept form of the equation of each line.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

2) Slope =-1, y-intercept= -2

Write the slope-intercept form of the equation of each line.

3) 3x-4y=-32

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

4) through: (-4, 2), slope = -%
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Write the slope-intercept form of the equation of the line through the given points.

5) through: (-3, 1) and (0, 4)

Write the slope-intercept form of the equation of the line described.

6) through: (-2, 4), parallel to y = -§2—x +1

Write the point-slope form of the equation of the line through the given point with the given
slope.

7) through: (1,-3), slope=-7

Write the point-slope form of the equation of the line through the given points.
8) through: (0, 0) and (-3, 4)

Solve each equation.

9) 2|x-3| =4 10) [2n-9] +9=18

Solve each inequality and graph its solution.

12) -2m=<3+m

11) ._l__é_f_g_l_<1
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Sketch the graph of each line.

1 -int =4, y-int =
3) x-intercept y-intercept = 3 14) y=—§x-4

Ay
H Ay

B R T e ) 1 6 x 1
; o B T g : 3 =
. -
< -

15) 2x+y=-5
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Evaluate each function.

16 =3x + 3; Find f{- :

) f(x) = 3x + 3; Find £(-6) 17) o) = -——;-x ;Fmdp(—--léq)




Solve each equation by factoring.

18) x*-13x+42=0 19) vV +5v-6=0
20) 6m* -31m+28=0 21) 3m*-26m+35=0
22) n* =-12n-135 23) a* +3a=10

Solve each equation by taking square roots.

24) n* =81 25) n*-9=-8

26) p*+6=22 27) -3 -2 =-21

Solve each equation with the quadratic formula.

28) 11m* +8m-21=0 29) 12n* -11n-23=-5

30) 3r*-12r-1=-8r
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